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Sketch the graph of) es ope Ronen) °~ {A 
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Note, x=Oisa noa CLCMAISSI lle valve - \ 

, ( 
Graphically this creates a_ Ver “ce ASaor role 

When x > ~,y—- © and when x > -~,y— © 

Thus, y=Oisa horonte| The curves are in Quadranis AM 
Asap ote. . 
  

Sketch the graph of /(x)=—— 

  

   The curves are now in Quadrants IC , W. 
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Noite: —— is the same as — 
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~ Example #1...» 

  — 
Sketch the graph of Y = 23 +1 x 

Note : You must label a point in each section of the graph 

  
non-permissible value 

  

X43 

  
| x-intercept 

  
y-intercept 

  
vertical asymptote 

    
horizontal asymptote 

  
domain ER > Ft 35 

    | range 3 YER, \# 4 

wren k= 4 
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Given (x)= x we can sketch the graph of 
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y=3f(x+2)-1 ; 
~ I nant recta 

i 
i nt 

he nom wens i cn atom mm _— oo: 
| L 

Note: ii 
. $- x wb md. ene a _— 

The equation of the \ | 
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The general equation of a rational function is |? = x_-h +k | 

  
  

  
  

This represents a vertical stretch by a factor of a, followed by a horizontal shift of h units, 
and a vertical shift of k units. 

xz=hisa ver coh Asump he , 

Kara Opp ro oh CO. 

y=kisa hor monte asymprsle ° 

Fun cron 
Explain the behaviour of the graph for values of the variable around x = -2. 

ac 

lin kon As we c-pproach XK me L Leom the. réghst no. yuclets 

bis ure Oppreach «K =- 2 Sram “he eft Ae Yvalets 

Explain the end behaviour of the graph. 
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Example #2 
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Sketch the graph of ¥ = x-1 +3, 

  

non-permissibie value | Kz | 
  

  

  

  

x-intercept $/3 

y-intercept Ss 

vertical asymptote =\ 
  

horizontal asymptote wr 

  

| domain 3x CR, K#h 
        range 4 YER ; hi 
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Example #3: 

] 
Sketch the graph of St (x) =F: 
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Example #4. oe a \ 

Oo . € 

i ce“ ect ane? 
Sketch the graph of f (x}= “: x | 
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Note: We can use the previous ideas to help us graph the transformed 
versions of these functions. 
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